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(z+2D)x3-5= 43x4+2+2(7-2)=
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2 1 1 N _
12(———)+4X5—_= 24X123+4(4+39)
3 6 3
2 1 1
—+33.2-49)= ——27)x2+ - =
1 3 1 1
(3+35)%3 3.9+ 3)x4-7
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MH:
1 1 6 3
_—|-2.1 —_—— = . = R
(g T2D>375= 157675
2 451
12(5 - 2ysdx5— =2 7]
373 6

2 47 7
S +3(32-49) = (-75) = (45)

I 3 73 3
(2 5) 10 10

3 11 1
25%x20+5-3(52—)=(——)=(-1—
5%x20+5-3(5 2) ( 10) ( 10)

W: w:

3 61 1
43x4+2+2(=—-2)= — =6—
(4 ) 10 10

206 1
24X 12+3+4(4+39) = T = 4l

1 1 68 8
(g —2N)x 2+ 2= () = (A3)

I 1 47 7

9+ yxd—=2l g L

39+ ) 4= 7= 55 =55
1 1171
L i 405 - o)=L —g-
FTHZS =)= 5 =83
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